T&T5 1.6 Multiplication law March 25, 2015

( Example 2 )

These two spinners are spun.
What is the probability that
(i) spinner A shows red
(ii) spinner B shows red
(iii) both spinners show red
(iv) A shows red and B shows blue
(v) both show blue
(vi) both show white
(vii) neither shows white?
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{ Example 3 )

A gambler must throw a 6 with a single dice to win a prize.
Find the probability that hg‘sﬁl‘ns at his third attempt.
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{ Example 4 )

Three pupils A, B and C have their birthdays in the same week.
What is the probability that the three birthdays
(i) fall on a Monday
(i1) fall on the same day
(iii) fall on three different days?
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5. A bag contains 4 red discs and 6 bluc discs. A disc is drawn at random and then replaced.
A second disc is then drawn. Find the probability that
(i) both discs are red
(i1) the first is blue and the second is red
(iii) the first is red and the second is blue
(iv) both discs are blue
(v) both discs are of the same colour.
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5. A bag contains 4 red discs and 6 blue discs. A disc is drawn at random and then replaced.
A second disc is then drawn. Find the probability that
(1) both discs are red
(i1) the first is bluc and the second is red
(i11) the first is red and the second is blue
(iv) both discs are blue
(v) both discs are of the same colour.
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12. John drives to work and passes three sets of traffic lights.
The probability that he has to stop at the first is 0.6.
The probability that he has to stop at the second is 0.7
The probability that he has to stop at the third is 0.8.
(1) Calculate the probability that he stops at all three sets of traffic lights.
He arrives late if he has to stop at any two sets of traffic lights.
(i1) Calculate the probability that he is late.
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